HC 434: Final Exam
Name: __________________________ 

Please confine your answers to the space provided if you are writing and make sure to write legibly. There are a total of 230 points available on this exam.  Read the instructions for each sub-section of this exam.  Diagram questions should be done on the paper copy of the exam.
If you choose to type your answers in using a laptop, then do the following:
1. Download the exam at http://homework.uoregon.edu/pub/class/hc434/hc434final10.doc
2. Save it on your desktop with yourlastname as the filename

3. Type your answers in 

4. Save your exam often in case the battery runs out, or something

5. When finished – email the exam to uohomework@gmail.com
Section I:  Each question worth 10 points:  Answer 8 out of 10:
1.   Why does water vapor act as the principal greenhouse gas in the Earth’s atmosphere?
2.   Describe some of the potential difficulties associated with the carbon market and the allocation of emissions in carbon emission space. 

3.  What are the input components that determine the overall rate of sea level rise?

4.  What is the best evidence that we are currently in a state of “Peak Oil”?
5.  Draw and label the components of what is known as the “water-vapor feedback loop”
6.  Explain how the rapid loss of Summer Arctic sea ice affects the overall energy balance of the Earth.
7.  Describe the basic idea and components that make up the A1T IPCC trajectory.
8.  Describe the physical process of what is meant by “global dimming”
9.  What particular new technology has come into play over the last 20 years or so that has both facilitated and accelerated the rate of global trade.
10.  Distill Cronon’s message down to a Bumper Sticker of 7 words or less
Section II:  Each question worth 15 points:  Answer 6 out of 8
11.  Explain what the two biggest sources of uncertainty are in our current physical modeling of the Earth’s climate system.
12.  Explain why using changes in the global average temperature on the land is not a particularly good diagnostic of “global warming”.
13.   Physically explain how the presence of a planetary atmosphere leads to a "greenhouse" effect by using a diagram.
14. Sketch the global carbon cycle and identify pathways and reservoirs
15.   Explain how a hierarchical world view naturally leads to humans treating nature as a consumable.
16. Between April 2009 and April 2010 atmospheric concentration of CO2 increased by 3ppm – the largest annual increase yet observed.  Explain the likely factors behind this unprecedented increase.










17.  Detail some reasons why the detection of regional climate change is very difficult to reliably establish.
18.  Explain why, in the longer run (e.g. greater than 100 years) methane is likely to be the dominant greenhouse gas in the Earth's atmosphere that drives climate change
Last three questions worth 20 points each:  Answer all of them
19.  What is an avoidance cost and why are we so bad at incorporating that concept into public planning and policy?
20.  In one paragraph, present a convincing case that climate change is an unavoidable consequence of human activities by using the words/concepts Uncertainty, Lag, Non-linearity, and Feedbacks.

21.  Explain how this course has increased your overall awareness and understanding of the current state of the world and its trajectory.

